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Q1) Answer any two parts of the following: [2 × 5 = 10]

a) Draw block diagram of feedback control system and its elements.

b) Explain the working of closed loop control system with the help of block diagram.

c) Define and explain Static and Dynamic control system.

Q2) Answer any two parts of the following: [2 × 5 = 10]

a) Compare between Linear and Non linear control system.

b) Discuss about Definition of Transfer Function and its use in control system.

c) Discuss Pole-Zero concept of Transfer Function.

Q3) Answer any two parts of the following: [2 × 5 = 10]

a) Discuss Initial value and final value theorem.

b) Compare between open and close loop control system.

c) Mention basic concept of stability analysis by Routh-Hurwitz criterion.

Q4) Answer any two parts of the following: [2 × 5 = 10]

a) Discuss role of basic controller in process Industry.

b) Give basic idea about different types of controllers.

c) Give basic idea of Laplace Transform.

Q5) Answer any two parts of the following: [2 × 5 = 10]

a) Give basic idea of undamped, over-damped and critically damped system.

b) Give basic idea of proportional controller.

c) Discuss in detail about PID controller.
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NOTES :

i) Attempt all questions.

ii) Students are advised to specially check the Numerical Data of question paper in both versions. If there is any
difference in Hindi Translation of any question, the students should answer the question according to the English
version.

iii) Use of Pager and Mobile Phone by the students is not allowed.

CONTROL SYSTEM (ELECTIVE)

(P.T.O.)1F - 1244



2236

F - 1244 2

({hÝXr AZwdmX)({hÝXr AZwdmX)({hÝXr AZwdmX)({hÝXr AZwdmX)({hÝXr AZwdmX)

Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > : i) g^r àíZ A{Zdm¶© h¢&

ii) narjm{W©`m§o H$mo gbmh Xr OmVr h¡ {H$ do àíZ-nÌ Ho$ XmoZm§o AZwdmXmo§ _| gm§»`H$s` Am±H$‹S>m§o H$m {deof ê$n go {_bmZ H$a b§o& `{X {hÝXr AZwdmX Ho$
{H$gr àíZ _| {H$gr àH$ma H$s {^ÞVm h¡, Vmo narjmWu A§J«oOr AZwdmX Ho$ AZwgma àíZ H$m CÎma X§o&

iii) narjm{W©`m| Ûmam noµOa Am¡a _mo~mBb \$moZ H$m à`moJ AZw_Ý` Zht h¡&

à.à.à.à.à.1) {ZåZ{b{IV ‘| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE& [2×5=10]

A) ’$sS> ~¡H$ H$ÝQ´>mob {gñQ>‘ Ed§ CgHo$ KQ>H$m| H$mo ãbmH$ AmaoI Ûmam Xem©BE&

~) ãbmH$ AmaoI Ho$ Ûmam ~ÝX nW H$ÝQ´>mob àUmbr Ho$ H$m¶© nÕ{V H$s ì¶m»¶m H$s{OE&

g) pñWa Ed§ J{Verb H$ÝQ´>mob àUmbr H$mo n[a^m{fV H$aVo hþE CgH$m dU©Z H$s{OE&

à.à.à.à.à.2) {ZåZ{b{IV ‘| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE& [2×5=10]

A) br{Z¶a Ed§ ZmZ br{Z¶a H$ÝQ´>mob àUmbr ‘| ^oX ~VmBE&

~) Q´>mÝg’$a ’§$³eZ H$mo n[a^m{fV H$aVo hþE CgHo$ H$ÝQ´>mob àUmbr ‘| Cn¶moJ H$m dU©Z H$s{OE&

g) H$ÝQ´>mob àUmbr ‘| nmob eyÝ¶ AdYmaUm H$m dU©Z H$s{OE&

à.à.à.à.à.3) {ZåZ{b{IV ‘| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE& [2×5=10]

A) BZr{e¶b d¡ë¶y Ed§ ApÝV‘ d¡ë¶y à‘o¶ H$m dU©Z H$s{OE&

~) Iwbo n[anW Ed§ ~ÝX n[anW H$ÝQ´>mob àUmbr ‘| ^oX ~VmBE&

g) Routh-Hurwitz ‘mZH$ na pñWaVm narjU H$s AdYaUm H$m CëboI H$s{OE&

à.à.à.à.à.4) {ZåZ{b{IV ‘| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE& [2×5=10]

A) àmogog CÚmoJ ‘| ~o{gH$ {Z¶§ÌH$ H$s ^y{‘H$m na MMm© H$s{OE&

~) {d{^ÝZ àH$ma Ho$ {Z¶§ÌH$m| Ho$ ~mao ‘| ‘yb {dMma Xr{OE&

g) bmßbmg ê$nmÝVa H$m ‘yb {dMma Xr{OE&

à.à.à.à.à.5) {ZåZ{b{IV ‘| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE& [2×5=10]

A) AZ-S>¡åßS>, Amoda S>¡åßS> Ed§ {H«${Q>H$br S>¡åßS> àUmbr H$s na gm‘mÝ¶ {dMma àH$Q> H$s{OE&

~) ànmoe©Zb H$ÝQ´>mob àUmbr Ho$ ~mao ‘| gm‘mÝ¶ {dMma àH$Q> H$s{OE&

g) PID H$ÝQ´>moba Ho$ ~mao ‘| {dñVma go g‘PmBE&
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